“UPPSC BY KHAN GLOBAL STUDIES”

UPPSC Syllabus Prelims

A 318439 YU 1 : P || General Studies Paper 1 : Geography

HRd 31R fasy &1 vifae, amie 3R HW{IEFTﬂE || Physical, Social, and Economic Geography of
India and the World :-

& fa oot § faw Bt doeret ATHTR TR 6t U €171t || In World Geography only a
general understanding of the subject will be expected

% WRA BT YA & 31a7d 521 & Hifdds, T vd 31fefds yinter & avaIfid U &1 ||
Questions on the Geography of India will relate to the Physical, Social & Economic
Geography of India.

UPPSC Syllabus Mains - 9T 31e994 1 || G.S. 1

1) fa & aqa urpfde FATEMAT BT faazor - s7er, fAfgar vd oA, efeior vd efeior gd viam & (WRd &
faely de ) || Distribution of major natural resources of World- Water, Soils, Forests in

reference to South and South-East Asia with special reference to India. Factors responsible for

the location of industries (with special reference to India).

2) ¥ifde it ot wa fafigare - ydu, AT, sarermRdt fosams, agsard, THet sTel URTE, e Td f&n
gRare || Salient features of Physical Geography - Earthquake, Tsunami, Volcanic activity,

Cyclone, Ocean Currents, winds and glaciers.
3) MRd & Afds HERMA Td 37! FHTAT || Oceanic resources of India and their potential.
4) T Uqg- fay & QRUTRIT THET- HRd- 3UAEgT & deH 7 || Human migration-refugee problem

of the World with focus on India.

5) M1 a2r T - HRd 3U-HeTgiu & e # || Frontiers and boundaries with reference to Indian

sub-continent
6) SHEAT Td A - THR vd Ufasy, FRIGIOT, FME R Td W1 T || Population and

Settlements- Types and Patterns, Urbanization, Smart Cities and Smart Villages.
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af || Year U8 || Question

1) 37 Bfeag=T Taral df 3cfd & BRUT, TIAT a7 I HITH BT gufd BIFT (200 g # 12
371) || Describe the causes, structure and associated weather of tropical cyclones (12 marks in
200 words)

2) HRd H ATHIOT feiamrt & Ufdsu & YHTad B3 a1l BRab! df f[daaHT BifiE (200 QE&T H 12 376) ||
Discuss the factors affecting the pattern of rural settlements in India (12 marks in 200 words)

3) HRd H Yy Ufeal BT aufq HIf5T (200 2recl # 12 31) || Describe the earthquake belts in India (12
marks in 200 words)

1) HRd i 5@ Hfd (2000) Bt g faRITdT3T TR Ub1Rl STt STHHEAT RAABRUT & et 5 3™
JSITSTI (200 Qr&gT # 12 31) || Highlight the salient features of the Population Policy of India
(2000). Suggest some measures for population stabilization. (12 marks in 200 words)

2) HRd H TRIBIT bt Yepld BT uRterur ST 3R il 71fd & dgd TRIBOT & 3cud FHTidb TRUTTHAT Bt
T BT (200 QA&GT H 12 37) || Examine the nature of urbanization in India and explain the
social consequences arising out of rapid urbanization. (12 marks in 200 words)

3) TehdTd adT &? AT BicaE Tehdardl & 3cafd &b BRUT bt AT BT (200 RASET H 12 375) ||

What is cyclone? Explain the reasons for the formation of temperate cyclones. (12 marks in 200

2022

2021

words)

1. SATTHT & 3gR & BRI & fad=qT Bz a1 38 rdr & f[Heqor & 94 RIe BUT &1 guid Hif5d|
(200 2r&gt ® 12 31) || Discuss the causes of volcanic eruption and describe the land forms

2020

formed by the deposition of its lava. (12 marks in 200 words)
2. fE< WErErR & G9TeAT & M7 3R 3uAhT & 2t fafia uRfaifddia aaemsi © g sifdel ((200
Q&g ® 12 31) || Throw light on the various ecological problems associated with the

exploitation and utilization of the resources of the Indian Ocean. (12 marks in 200 words)

3. faudta gar o1 2?2 BIfds-19 SAlbs13T & SR 3T UaRl & 37fera?T 3R ATATfTd el U1 S8db]
T YHTd UST? (200 2ASET | 12 37) || What is 'reverse migration'? What was its impact on the
economy and social order of Uttar Pradesh during the Covid-19 lockdown? (12 marks in 200
words)

4. 3o gdda & § it BUT Bl bR YT B # fEHa! ot YfHdbT BT gufd Bif5id1 (200 2real # 12
3[®) || Describe the role of glaciers in shaping the land forms in high mountain regions. (12

marks in 200 words)

1. IwTBidtta Tghardt Bt 3aafd arrta v R dt @ vd Tty 1T R ugad € 3 g eR- #iR
&ftor B3 WA 81 57Td & BRUT Jfed TE B1 (125 2AG] | 8 37d) || “Tropical cyclones originate on

the oceanic and as soon as they reach the terrestrial parts, these cyclone gradually weaken

2019

and end. Explain with reasons. (8 marks in 125 words)

2. RIS B URHTNG 531 gead PRIIBT A 3cud TR 6t fddaHr S (200 <reci # 12

31) || Define urbanization. Discuss the problems arising out of increasing urbanization. (12
marks in 200 words)

3. a1 B ARGATHB il [ReYarcad fobar gRT [AfHad y-31apfaat &1 aofa BifEa (200 2t # 12 37) ||
Describe the landforms created by the erosional and depositional action of the wind. (12 marks
in 200 words)
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4, 3T 31T HEMPR B TR R 37 3cufd & BRI fed Th PBHdE oid falRael (200 gl # 12
31) || Write a systematic account on the currents of the North Atlantic Ocean including the
reason for their origin. (12 marks in 200 words)

5. HERIPRI A 331 GATEM dT HRA acid & H 37t THTIAT Bl JHTeTcHd T B (200 2Asql H
12 37p) || Critically explain the energy resources in the oceans and their possibilities in the

Indian coastal region. (12 marks in 200 words)

1. Y-HUScY HoAT IR féwoft feffae] (125 2real # 8 31) || Write a note on global warming. (8 marks

2018
in 125 words)
2. IIg-IfRI o 87 gHdb! UHA faAedisl &7 3eeid HIfFTI 200 2AecT # 12 37) || What is air mass?
Mention its main features. (12 marks in 200 words)
yiler (1 uia) : faset 5 auf & usi &1 fagvor (2018-2022)
af ) fasy piter WRd Pite HAd Y41, FAHET T
(World (Indian 31fefarE (Human migration,
Geography) Geography) Population & Settlements)
2022 03 01 01 01
2021 03 01 - 02
2020 04 03 - 01
2019 05 04 - 01
2018 02 02 - -
Pl 17 1 01 05
fasy ypieT (World Geography)
1) Climatology (FTeTary fasTm) 05
2) Geomorphology (¥ 31Tfd st ) 03
3) Oceanography (H4a ﬁETFI) 03
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UPPSC Prelims - PYQs (2015 to 2023)

2023

1) fFufafdd 7 4 e a1 ed (- 50 / b 2nfda
ga2l) Fel GAferd 82 || Which one of the following

(Passes - States/U.T.) is correctly matched?

A. Afq - 3wrds

B. 3ifHd- 31&UTiaet Ueer
C. HMT - fédraet a2l
D. i - ¢lerd

2) "A3ve A FRafcfad # 4 foa @fs & foie ufbe 22
|| Mount Newman' is famous for which of the
following minerals?

GIEL

AT

. e 3P

CIELIE

3) fAafcfdd weal # 4 rse fAgt & fava d d a1
P T&l 87 || Which of the following statements is
correct about laterite-soil?

1. ge TAgh 3 argdHE vd vt g arel it A/
faofaa gidt & || This soil is developed in

areas with high temperature and heavy

O nwe>ey

rainfall
2. =4 fAgh # wile 3i1Tss Ud UogHIAaH 6t BHT
gt 37Tt 2 || It is poor in iron oxide and

aluminum.

A fGT 77T P A FEt 3T gAT || Select the correct

answer using the code given below

A. SHI1dAT2 || Both1& 2

B. &dal 2 || Only 2

C. Adr1A18 2 || Neither 1 nor 2
D. &dei1]| Only1

4) frafafda Il W fdear HIET q2r 3= 36
3R & F6d PBH H AdRId BHIfFT (a4 B¢ 9 I

ﬁ’{ﬂ?raiﬁ) || Consider the following deserts and
arrange them in increasing order of their size (from
smallest to largest) -

I 9 dAudt vEee
Il 3RfSH Aeeere
.  HERTHSSA
V. et HSee

Ad fGT 71T P A F&t IR gHT? || Select the correct

answer using the code given below -

AL LIV, T
B. LIV, ILII
C oL m v
D. LILIV, 1

5) WRd &t UH Afcdl d 37db 3gH TIell &b 5113 gATSa?

AfeT (River) 3¢H T (Source)
(A) T (1) faerar

(B) T (2) TIED

(O Meradt - (3) FETSCIR

(D) wETt (4) T

a. A-(4),B-(2),C(3),D-(0)
b. A-(4), B- (2), C-(1), D- (3)

c. A-(4),B-(3),C-(2),D-(1)
d. A-(1), B-(2), C-(3), D- (4)
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6) geit-1P1 T 11 & GAfeTd HifTE derm Fiadt or At
fGu 7TE e & FEt 3R YT || Match list-1 with list-Il

and select the correct answer using the code given

below

eit-1 - -1

(e (20
(A) foeftAsTRY - (1) ARG®
(B) geichet - () HostiRar
(O) weet - (3) T
(D) EPR - (4 gET
Fe?

a) A-(4),B-(2),C-(3)D-(1)
b) A-(3), B-(4), C- (1),D- (2)
) A-(4),B-(3),C(@2.D()
d) A-(3), B- (1), C- (4),D- (2)

7) Fafeiaa # @ e (st <2 gt grfda Teie ? ||
Which one of the following (Lake-Country) is not
correctly matched?

a) WRIGISE - ATl

b) AT - TG I 3MARBT
c) 3 - HATST

d) dFId - BT

8) fAufeifaa # & fosg T WR 3rcidA<1 vd HPTReft 7t
fAeTdt 82 || Which one of the following place is the
confluence of the river Alakhnanda and the
Bhagirathi ?

a) od T

b) Ui gamT

) fasopymr

d) JauarT
9) "3YA-AA" & G & Fufaifad Bl § ¥ o a1/8
et 8/87 || With reference to the "EL NINO", which
of the following statement/s is/are correct?

1. 37T 4T/ gdff werid &5 # 9% & d¢ W 7=
YR BT Ydbe 8IFT MHA & || El Nino involves

appearance of warm current of the coast of
Peru in eastern pacific.

2. g IH YRTUS &b dc W YT &b dTIAT BT 10°C
I gaT St &, 5 g & widhed ol AT 98
5Tdt & || This warm current increase the
temperature of water on the Peruvian coast
by 10°C there by increasing the amount of
Plankton in the sea.

At few 7e Ppe & Tt 3TR YT || Select the correct

answer using the code given below-

a) Tdar1Arg2

b) Fael1

c) &dd?2

d) gHi1TEd2
10) fRIaTTAYE Tef hervehA shH2r: food feit Hecyof
87 || Shivanasamudra and Kalpakkam are
respectively important for -

a) 3Tet 2Afth vd TG Hatf
b) dTd H31f Td ATHGIT 31
c) IR 2Ifh Td AT H3f
d) A& 331 Td 57et 2rfdhs

11) #ier &1 B2 & 5 T Bl 3AHBA (A) 3R GHR B
PRUT (R) BET AT § || Given below are two
statements one labeled as Assertion (A) and the
other labeled as Reason (R)

AP (A) - SfetoT-ufgn AFg AiaH &
SR AffieiTg dc Yoh IEdT € || Assertion (A):
The Tamil Nadu coast remains dry during

the south-west monsoon season.

PRI (R) - dfAcIg dc ST bt WTst &b 2RaT
& AR feid & 3R efafor-ufsga Ay ot
3R PR ST & # f2id € || Reason (R)
- The Tamil Nadu coast lies parallel to the
Bay of Bengal branch and lies in the Arabian
Sea rain shadow region of the southwest

monsoon.
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o few 71e Ppe @ &t 3TR YT || Select the correct

answer from the codes given below

a) (A) 3R (R)SRTEA R, 3R (R), (A)
61 Tt s Fa1 £ || Both (A)
and (R) are true, and (R) is the
correct explanation of (A)

b) (A) 7TeTd & fobd (R) AT & || (A) is
false but (R) is true

o) (A) 3R (R) a1 I . aifdb (R), (A)
P TE! AT 78t BT 7 || Both (A)
and (R) are true. But (R) is not the
correct explanation of (A).

d) (A) T e fdhg (R) TAd || (A) is true
but (R) is false

12) FRafeilRad & @ PIAT (e Fet gRfeid Ta8t
82 || Which of the following (Port Country) is not
correctly matched?

a) Sl - A

b) @Il - SSAREAT
) Wivedifsar - 357
d) 3w - AeRavs

13) cfeivft Merref & gar &1 ardt 31k fdefia €1 &1 =i
BRUT 7 || What caused wind to deflect towards
left in Southern Hemisphere?

a) <dId || Pressure

b) dIYHIT || Temperature

c) BRIEIT 9 || Coriolis force
d) e & || Magnetic Field

14) Afs1 TreT & <M A fafciiad et § d e ar
/& T&t 8/87 || With reference to mineral resources,
which of the following statement/s is/are correct?

1. STR-BRAR & Rardt et # oftferam & srwnfd
HUcT HUsSR fAat € || Lithium's inferred
resources have been found in Reasi district
of Jammu & Kashmir

2. MRd 3 W31 g1 oftfagm, et qar
PIgTeT & foe 3mard R AR € || India s

import dependent for many minerals like
Lithium, Nickel and Cobalt.

At 16 713 e & FE IR IMAT || Select the correct

answer using the code given below-

a) dad1
b) Far1ATEr2
c) Phdad?2
d) eFf13iR2

15) RIS fafdsioT Bt 3reRifd B arett 3 W'
g argHE AT TR | f&Id 872 || 'Ozone layer
absorbing ultraviolet radiation exists in which of
the atmospheric layer?

a) dIYHSd || Thermosphere
b) UHAIY HSe || Stratosphere
¢) WYY HSA || Mesosphere
d) & HseT || Troposphere

16) FAafciiRad # & B 41 (TErIP Tt Idl) Fal grfea
TE1 82 || Which one of the following (Tributary -
River) is not correctly matched?

a) HICTYMT - BSoTT
b) eHTd! - BT
c) H3RT - MeTe’t
d) Woifgar - AeFdt

17) 9 & & 7 &7 TIX TST BIIAT 3ATGH Bbg B AT

2? || Which one of the following is the largest coal
producing centre of Ukraine?

a) wfda
b) FARGaT
c) INTH
d) da
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18) HYTH 154 ITARDT d2iT AT & st HiAT R feerd
7t 8? || The river situated along the border
between the United States of America and Mexico

is?

a) PIERs!
b) MW

c) fafafadt
d) faruid

19) Teb HPMfeieh SebTS 511 UTHT &Y gl didl &, WSRUT
Pl & Td UM Bisdl &, 38 ded e || A geographical

unit that collects, stores and release water is called

a) STAIfGYTST® || Watershed
b) 31¢ Y || Wetland

) Ut ®TE || Water reserve
d) <@ YfF || Waste land

20) frafeifda & @ B9 97T B2F T 82 || Which of the

following statement is true?

a)

b)

d)

HEMPRIY oTquTdT dodb Td Hebs RT3
R 37feldad 8idt & || Ocean salinity is
maximum at the Tropic of Cancer
and Capricorn.

afe g, geaft qeim TeAT e el H g
dr Ie feifd org sar &t feafd € || If
the sun, the earth and the moon are
in a straight line then this situation
is the situation of small tide.

ST URITd HETPR Pl Ueb U URT &
|| Benguela current is a cold current

of the Pacific Ocean.
gt w wfdfe dies 12 = 30 fiTe
91¢ IR ATaT 8 |l Tide comes on
the earth every day after exactly
12 hours 30 minutes.
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2022
1. Fafdfda # 4 -3 &1 get gafad €2 || Which two

of the following are correctly matched?

S5Ifa (Tribe) - Y (State)
1. bR - 3nfden
2. popt - SW YR
3. gt - IERAA

4.U1fdgH - dfferg

A ST 70 e @ et 3TR b1 I HIfF || Select the
correct answer from the code given below
Pc || Code:

a) 1dT2

b) 14daT4

c) 2dAr3

d) 3dr4

2. Geft-1 Y geft-11 & gRfera e qor gfeat &
QU 1T P A &t 3TR BT I HIT || Match List-|
with List-Il and select the correct answer from the
codes given below the lists
-1 -1l
(W & 5TeT Tel) (rafeifd)
A. GEEIPR 1. BAfch
B. SRBMT 2. 3fgam
C. A<TER 3. fénTaer g
D. UetTt 4. 7Mar
PC:
ABCD

(@ a123

(b) 43 21

©12 34

d32 41
3. 3. ATeerd 7 'St AIeefGaT ARt ARG Uile g Bl
ufqurfed fasam, 5 Trafeid & || Malthus propounded
the famous theory called 'The Malthusian Theory',
which is related to -

a) fAefara

b) sEETd

¢ SRR

d) iy

4. feror-gd efrar # fe2n aifat g & g #
fFafdfaa & & BH-T1/4 B2 Tl 8/872 || Which of the
following statement(s) is/are correct with respect
to the island of Borneo situated in South-East Asia?
. ggdH N | fawrfzid €1 || It is divided into
three countries.
Il EAbT 3cufd sarer! feu & grigat 21 ||
They originated from volcanic deposits.
At few T P @ et 3R BT I BIT: || Select the

correct answer from the code given below:

Pc || Code:

a) ddel1

b) 1daT2 Ml

c) &dd?2

d) qaridet2
5. Fufeifad udd sRaamsi # & o1H-t feATera udd
uft 7 37afed € ? || Which of the following

mountain ranges is located in the Himalayan

Mountain range?
i A
i. e
iii.  3TATACS
iv. fgeHTet
A few T P A et 3R BT I BIFT: || Select the
correct answer from the code given below :
Pc || Code:
a) daci1dAT2
b) dbael 1, 2dAT3
c) bda3dAT4
d) &dd 2, 3dAT4

6. Ug & PIuer &7 FAufcilad 7 & féa g A f@a
8- || In which of the following country is the famous
Roor coal field located?

a) wig

b) st

c) g

d) FefeA(Ees)
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7. et | et 1 @ e BifTE den i & A9 e

U P A He IR BT I BT
gl-I -
(TETEPR) Giftiman TR faw)
A. R0 1. g1 7Td
B. 31Tdbfch 2. 2l Repl 71
Cfé 3. ARIMAT ITd
D. 317 (31caTifed) 4. el g ITd
PcC:
ABCD
a) 3412
by 3214
) 1234
d) 4321

8.9 2022 & YRR H I HT &I STd 3cule H fay #
T4 W IET 87 || Which country has topped the
world in steel production at the beginning of the
year 20227

a) HRd

b) 3

) &g

d) =i

9. #1a &1 ahy fG8 T €, Teb bl 3TTHeBIT (A) T gk
P BRUT (R) BET AT &1 || Given below are two
statements, one labeled as Assertion (A) and the
other labeled as Reason (R).
HHEBAT (A) : TZRAPRIT STaarg & &t &
auf 2ffd skq A gldl 21 || In areas of
Mediterranean climate, rainfall occurs in
winter.
BRYT (R) : TTHIT  F &5 ep et ganit &
THTd H I&d &1 || In summer these regions
remain under the influence of dry terrestrial
winds.
At few T P @ et 3TR P17 HIT: || Select the
correct answer from the code given below :
a) (A)dT (R) &Y 9l € 31R (R), (A) Ht T&t
TS 8
b) (A) H&l € IR (R) 7Teid 2|

©) (A) @ (R) oHI Het 8 IR (R), (A) bt Het
AT el Bl
d) (A)7TeTd & W (R) HeT &1
10. -1 Bt TA-1| & GAfeid dif>ie g2 gt & A9
fGT 7T e & FEt 3TR BT IIA BIfT || Match List-|

with List-ll and select the correct answer from the
codes given below the lists.

et 1 et 2
afeedfa

A gesRUgrsl - 1LERImom
B. ST’ g)detm - 2. AfUIR
CRAgaenr - 3.fdER
D. ENfS ygrst - 4. FAfed
< || Code :

ABCD

a) 4312

b) 324 1

c 3421

d 231 4

1. a5 1985 H T TaR[ T URATSHT TRA B BT
H@IB@?H T - || The main objective of starting the
'‘Ganga Action Plan' project in the year 1985 was -

a) T ST IR dbdet T SiE FAMT

b) Tt & T Bl Ba S B faie g & @A
) U A B Bad UGHYT Wed HAT

d) 3Wfch A A BrE T

12. /1 &1 athed 6 T €, T bl MBI (A) deT TR
P BRUT (R) HETIAT & || Given below are two
statements, one labeled as Assertion (A) and the
other labeled as Reason (R).
B2 (A) : 3TPRT 37R STf5TfeiTT Tp &1 31efier
R f2id € foorg STt # 37PRT T dTIHH 16°
AT q2u1 ST BT 4° AfcqaT rar el ||
Agra and Darjeeling are situated on the
same latitude but in January the
temperature of Agra is 16°C and that of
Darjeeling is 4°C.
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PRI (R) : TS & 12/ dTIHH TedT @ g
faeT a1y & BRUT ACTHT UG2i bt gorr &
gddta a2l 31feid &3 gld 81 || The
temperature decreases with height and due
to the thin air, the mountainous regions are
colder than the plain regions.

At feT T Pe @ e ITR BT TG BTl || Select the

correct answer from the codes given below.

Pc || Code:
a) (A) T (R) &Y 9l 8 31R (R), (A) Ht T&t
21051 K|
b) (A) Hele W (R) 7TeTd &l
c) (A)dT (R) aHI HEl 8 IR (R), (A) Pt T&t
AT A& 8l
d) (A)7TeTd 8 IR (R) F&l 8

13. FAufciRad # & &I v Het GRfeid © -|| Which one
of the following is correctly matched-

a) 3EA - 7

b) 3TRUCA - 5[¢

c) & -3

d) TRIA-a™

14. SHFITEIGIRT dMIRI & - || Demographic dividend is
a) 15-59 a &t HrRife sTHIET
b) 14-50 a¥f &t Briftet sTI@T
c) 0-6dY B ATEAT
d) 60 a¥ I HWR 6t Briefter LT

15. BRI BH HHLY fHafeiRad A 4 fba gl A RIa €7 ||
In which of the following countries is the Kara Kum
desert located?

a) HTRAEH

b) arfsifewan

o) fofieam

d) ghMfeam
16. RITHR T O] JTHT &1 WiH51 BT THA 3cUTGh &7 ||

The Pegu Yoma region of Myanmar is a major
producer of which mineral?

a) dict

b) fea

Q) GIE!

d) [fistae

17. M HATE 6t a1fSies R 2020-21 & 3AR
fafciiad # 4 1 & &1 759 WRd H ¢l 3% & U9
3T € - || According to the Annual Report 2020-
21 of the Ministry of Mines, which of the following

two states are the major producers of iron ore in
India?
| 3
. BdPTe
. SIRES
IV. &Afed
Ad fGT 7TE P A & Hel ITR BT < Hif - || Select

the correct answer from the codes given below -

a) 1daT2
b) 14daT4
c) 1d2T3
d) 2dar4

18. HRd & IH H FAufcilad BT # & BH-a1/8 &t
8/8? || Which of the following statements is/are
correct with respect to India?

. HRd fd &1 51 g g8T182A 7 || India is the
sixth largest country in the world.

Il. AR BT AT 2.4% & HRd &b 31=Td 311dT 21
|| About 2.4% of the world's area comes
under India.

. b RAT GRA & o A TRt & 51 3reriita
faTdR & &1 SRTeR MM A dicdt 81 || The
Tropic of Cancer passes through the middle
of the country which divides the latitudinal
extent into two equal parts.

IV.  HRd Yt &Re & 3Tl & | feid 81 ||
India is completely located in the tropical
region.

At few TR P @ et 3TR BT I BIT - || Select the

correct answer from the code given below -
Pc || Code:

a) 14dAT2

b) 2daT4

C) 3dAuT4

d) 2daT3
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19. 70 &Y ITh el 16 T €, Uh Bl MBI (A) TT A DI BRUT (R) BT AT 21 || Given below are two statements,
one labeled as Assertion (A) and the other labeled as Reason (R).
3PP (A) : fasy & fEieft 9fa &1 WA 3cdteas 21 || Chile is the major producer of copper in the world.
PRUT (R) : 351 &Iett o1 efest &1 Gt diam & fa2rmerad 89 & G7e || The Andes region of northern
Chile is endowed with the largest deposits of porphyry copper.
At few T P @ et 3T B I BIT || Select the correct answer from the codes given below.
a) &c || Code : (A) @T (R) @1 @&l & 31R (R), (A) Ft GEt T 21
b) (A) HET IR (R) TeTd € |
) (A) @ (R) oHI Hel 2 I (R), (A) DI Fel =T 7&1 2l
d) (A)7TeTd 8 IR (R) H&l

20. fFafeif@d # & BH A1 5I WA B a2l & - || Which of the following country is a landlocked country?

a) &ifafaar
b) FH™
) Us

d) 357

21. 3T ATHSII IET 3 fAafeilRad # & fbd sftet # 3/t €7 || Keibul Lamjao National Park is situated in

which of the following lake?

a) dIAS
b) &

) R
d) dlbde

22. fAafafda # & eF-ar 4¢t ardt (&f97) eFwa of eff I Tad g3t 82 || Which of the following is the largest river

basin in terms of area?

a) B

b) e

c) HWeMdl

d) ardt
23. geift T argAvsd fHafciRad # & qoud: fddd gRT dd 8ld1 8?|| Earth's atmosphere is mainly heated by which of
the following?

a) oY a1 FR fdfdsRoT || Short wave solar radiation

b) Wdbiof AR fafdroT || Scattered solar radiation

¢) Wrafad IR fafdor || Reflected solar radiation

d) &t @ T2refta fafdsor || Long wave terrestrial radiation
24, A g & argHs e A [Hafeiiad # & B €t 714 Fed 31feics AT A U1 5TTdt € ? || Which of the following gases is
found in maximum quantity in the atmosphere of Saturn?

a) ATsgIsH

b) e HHABIRITSS

o) waT
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d) TR T3 3TadTes
25. gAt-| bt Idft-11 & Hifsie qar | b At fGT T8 Pe @ et 3R &I TG BT || Match List-1 with List-Il
Tt i

and select the correct answer from the codes given below the lists.

et 1 et 2
(&) - (=)
A. 30T - 1.TR
B.3¢lC - 2.91q fAwfor
C. g - 3.gdias
D.fc fiegerf - 4. WiRdred
Pc || Code:
ABCD
a) 3412
b) 324 1
) 3421
d 231 4
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1. Faf@Rad & & B BId! $T Th Ui 3c1GdH ol T8t

& - || Which of the following is not a major producer
of cocoa?

a) drafaar

b) BHGT

) 9l

d) 3Tt B

2. fFufaifda & & ®H-7 BRUTHR & 3TR-UfAH 1T o
2ffd &g A €1 dTeit auf & feie 3akerit 82 || Which of
the following is responsible for the winter rainfall in
the north-west part of India?

a) HEYT bf gt

b) ATl ACT

c) ufgget faeiy

d) cfeivr-ufg Ay

3. fFafcifEd # 4 B U 31 ot &6l ot # sarer gd
6t A2t wrafdd &A1 - || Which one of the
following reflects more sunlight than the other
three?

a) 3d BIIFAHE

b) U B At B

c) anah d b yfd

d) UG yfH(EwRitarsoT)

4. IIYAUSE W YbTRI &b YHR BT BRUTE - || The
propagation of light in the atmosphere is due to -
a) Ie STS3TaNITSS
b) Yel BUT
c) €ifeaw
d) STetdrq

5. 5THeR & deH H FAafeilad w2t A & BH-a1/8 a8t
8/8? || Which of the following statements is/are
correct with respect to 'Birth Rate™?

. TRIGIT STHER Bl BH B H TEAB & ||
Urbanization helps in reducing the birth
rate.

Il et rerdr <R & 79 e A den arau 2 ||
High literacy rate has a direct relation with
low birth rate.

I fGT 713 pe A T IR YT || Select the correct

answer from the codes given below.

Pc || Code:

a) dad1

b) et 2

o 13R2eHY

d) Tdr19&t2
6. eit-1 1 Teht-11 F GATTA Bif5Te dar gt & A
ST 1T P A FEt 3TR BT A BITI || Match List-|
with List-1l and select the correct answer from the
codes given below the lists.

-1 -1l
(@f51 3ot 31fiasoT) ()
A. T T Tpfdds I 3T 1. %R
B. 51 30T {47 feifrics 2. BREIG

C. st |l faer fHmH 3. AR
. w1 TegfAfiam Bt f@fads 4. 7 ot
ABCD

a) 4231

b) 1243

¢ 4321

d 2341
7. FAafeilRad # & fdem! TReIT db # iR 3rawern
BT SITaT & ? || Which of the following is called the
accelerated stage in the urbanization curve?

a) YRIN {dRT

b) fgdi srawar

) gdia 37ereern

d) Tgel sraeen

8. WPt glu & de # fAafeifaa & @ B-a1/d ded
el 8/8? || Which of the following statement(s)
is/are correct with respect to Socotra Island?
. g 3 BT Th gl & 51 3Rg AR A RAd &1 ||
It is an island of Oman located in the
Arabian Sea.

Il. 382008 H bl gRT fa Urepfdes femd
el & B H A1faa fdar 7mar omi || 1t was

designated as a World Natural Heritage Site
by UNESCO in 2008.
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o few 71e Ppe @ &t 3TR YT || Select the correct
answer from the codes given below.

a) Pbad 1

b) &der 2

c) 13R28Ar

d) Fana&2
9. Fafcif@d # & WRd & gdf de W &id 9ed a8t o7
3fteT 1 Tt € || Which of the following is the largest
lagoon lake located on the east coast of India?

a) Yeitde

b) faewmr

) BAS

d) fofeideit

10. FFgfeifad A & B vh Tet gAfeid 781 & || Which
one of the following is not correctly matched-

a) E5% AT - WoRAT At

b) TS STAYYTd - &g A¢t

C) 3R YUTd - THeT Tdt

d) T °Te WuTd - bicit A&t

1. Geit 19 Geit 2 Bt Fet gAferd Hif || Match List 1

and List 2 correctly

it 1 - g2
SEqE adda - QA
A FT3E IR - 1.geat
B. HI3¢ TeAT - 2. AfegT
CHBCURpfA - 3. fociidla
D. AT3¢ vuT - 4.gTde
PC:

ABCD

a) 4213

b) 4123

) 2143

d) 4321

12. fgfeifaa # @ Bt v 7t HRdtg 71 7t g
o1 fERT &l 8 ? || Which one of the following rivers
is not a part of the Indian Ganga River basin?

a) YAYAAC

b) 311 ST

¢) STt et

d) sl 7t

13. Tielt 3R Bt AeH FAafafaa § § fa g v f@ia

8? || Nobi and Kanto plains are in which of the
following countries?

a) IWBIRAT

b) cfefor BIRkaT

c) SIUH

d) @

14. fFafcifRad & & BIFAT 220 BTAEPR & de R {&d T8t

& ? || Which of the following countries is not
situated on the banks of Kalasagar?

a) dHifar

b) cdbf

c) ST

d) gemRar

15. it 1 9 it 2 D1 Afeid HI || Match List 1and
List 2

GGl it 2
(lawuse)  (rafefd)
A. faweftore 1. 3TRRAS
B. TaHa! 2. HETed
C. q<redt 3. HegyeRl
D. Tdb 4. 331
Pc:

ABCD

a) 4321

b) 4312

c) 1342

d) 3412

16. SUSHTRIAT & gid THE! # ufgA & R fém bt 3R
et oor fAafeiaa # @ @H-A1 €2 || Which one of the
following is the correct order of the island groups
of Indonesia from west to east?

a) STrdT, ATAT, AP, STeit

b) GHTAT, ST, dTett, evels

) AT, STdT, A, STeit

d) dTeit, GATAT, STdT, citHe D

17. HRaad ¥ @R Uit & Jed a5t st 2 - || The
largest saltwater lake in India is -

a) faewmr

b) AR
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¢ WHR
d) geeTR

18. Ao 7t & HeW # fafeifad # & PIH-1/d B
et 8/2? || Which of the following statement(s)
is/are correct with respect to Mikang River?

. fA®HT &1 3¢H fdegd & UsR A 81 || The origin
of Mikang is from the plateau of Tibet.

Il.  TA®PT &1 3ot afetvr Braifsar & fR&d 81 || The
Mikang Delta is located in southern
Cambodia.

it few 71e Ppe @ Tt 3R [T || Select the correct
answer from the codes given below

a) bdel1

b) bad 2

¢ 13R2gHr

d) Fan, &2

19. eAt-1 b1 gft-11 @ gAfcia Hifsie aur giaat &
fGU 1T P A et 3R BT I HIIT: || Match List-|

with List-Il and select the correct answer from the
codes given below the Lists :

-1 -
(RABI) (el )
A. dfAeTg 1. YuITe et
B. AT 2. RTHT At
C.ArTeAs 3. THRRER TNt
D. Heg el 4. 3T deT et

ABCD

a) 3214

b) 1432

o) 4231

d) 4321

20. FAufcifda # & &H-a1 v oA et gafoia Te1 872 ||
Which one of the following pairs is not correctly
matched?

AT gAY BT AW - AN

(a) TaRr - WA

(b) feimithest - Ifrefarar
(c) ST AR - 3T 3mRaT
(d) 2mHeT - 3iif&Ear

21. 79 & & Bi-a1 A F&l Afeid TEt 82 || Which of

the following pair is not correctly matched?

A (Place) STIG (Trible)
a) 3Gl - 1. BRAGB

b) Ay - 2TAA

C) 3Rd BRI - 3.dTel

d) isT qar feivs - 4

22. 1 g1 w2 feu 7T 8, 57 & TP B 31fidba (A)
3R R B BRUT (R) BET 7T € || Given below are
two statements, one labeled as Assertion (A) and
the other labeled as Reason (R).
fiPA (A) : fawaT A6t ugd 77T 6t GEd
7St 2ff 31T5Tchet I8 STgTYa ol HeTdd Tal 8l ||
Teesta river was earlier a tributary of Ganga,
nowadays it is a tributary of Brahmaputra.
BROT (R) : 7T 31907 fEHTTT ot AfSaT &1 v
UH 70T 1 || River abduction is a major
feature of the Himalayan rivers.

A 163 77 Ppe & Hel IR BT I FIGE || Select the

correct answer from the codes given below.

PC || Code:
a) (A) 3R (R) SFT T & 3R (R), (A) Ft Tt
T FAT 2
b) (A) 3R (R) aHI T &, fbg (R), (A) &t HET
AT Tl Bl &l
o) (A)IAE,fbq (R)ITTd? |
d) (A)7eTd &, fog (R) I 21

23. SITUMT 2011 & 3IAMI B IAR WRA A g # J
PIHT T T el STIEAT dTell 59 & -|| According
to the estimates of Census 2011, which one of the
following is the most populous state in India?

a) faEr

b) HeAUCRI

C) HeRTy

d) 3TmeRA
24. 2011 &1 STITUMT & TR fbd I3 BT SESAT
e G BH AT - || Which state had the lowest
population density as per 2011 census?

a) Tedma ucer
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b) 3ISUTRIA Ao c) HiedRre
c) ufgHt §mrer d) Orgen
d) fAsik" 26, FAufeiRad # & B1-A1 g7H Fet GAfeid T8t 87 ||
Which of the following pair is not correctly
25. fufaifaa # & -1 g1u B PR # 3raferd matched?
&1 82 || Which of the following island is not located a) IRIETT R-aFeh! ATHUH b - ARYeft
in the Caribbean Sea? b) YRR a9 Y& XA - HiUTet
a) IAET Q) P R-aTfFbY AT YL - dieT
b) HERT d) TTeT H3I ATHUT TAM - 7S feoad!
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1. FafdRaa sHsfaal § @ BH-91 HRd &b 3708 3R
PR giu aHel bt 4o fHardt et 82 || Which one of
the following tribes is not the original inhabitants
of the Andaman and Nicobar Islands of India?

a) EleTg

b) YT

o) 3M=t

d) 2MHF

2. fFafafad & @ S1F-a1 v 7t ATt - uR (g19-
fénTeT) ASt €2 || Which one of the following rivers is
a trans-Himalayan River?

a) SiaH

b) TaeT

c) I

d) 3t

3. FAufeifad # & o1-a1 Get gAfed 781 82 || Which of
the following is not correctly matched?
Grefa)  Grafefd)
a) 3PMHT-  APTvS
b) faRéR- sIRWvUs
) WH- 3BT Ha2A
d) disr - dfferg

4. 1 B -1 & AT Bi5TE qer gt A
T e § Hel IR AT : || Match List-| with List-II
and select the correct answer from the codes given
below the lists :
Tt e - gt (safeEfa)
A. I Site - 1. 31SUTTES U
B. gg@dsitd -  2.8RImwm
C. didehdsiiad - 3.HOR
D. dleitdeftsfter - 4. dfAerrg
®c || Code:
ABCD
a) 1234
b) 2134
d 1324
d 1423

5. 710 &Y B 160 T €, 570 Uh Bl BT (A) dAT E
Y BRUT (R) BETITATE : || Given below are two
statements, one labeled as Assertion (A) and the
other labeled as Reason (R):
YA (A) : EHCTETG HRA H Jdt a& e &bl
T4 d3T b &l || Ahmedabad is the largest
center of cotton textile industry in India.
BROT (R) : 3EACTATG HRd & YA BUR
3caTed & W Rd &, SAfcTU S8 deal It i
PIS GHET 78! 81 || Ahmedabad is located in
the major cotton growing region of India, so
it has no problem of raw material.

Ad 163 71 pe & Fel IR AT || Select the correct

answer from the codes given below.

P || Code :
a) (A) 3R (R) eI Tt & 3R (R), (A) Ht Tt
AT Bal &
b) (A) 3R (R) GHI TEt & W (R), (A) Pt A&t
YT 78! Bl &
o) (A)TElefeg R)Tade
d) (A)7Terd & fbg (R) TEt &

6. fufeiRaa # @ BIdt YR &t AdiHan uda Soft - ||

Which of the following is the latest mountain range
of India?

a) féwneht ot

b) 3RTdei! guft

c) ufgHteamre

d) faeamer goft
7. et B gt & AT BifsTe der gt AR o
TR P A FEl 3T AT || Match List-1 with List-1l and

select the correct answer from the codes given
below the lists.

eit-1 - gE-N
(e 3Em) (UEY))
A. STadt . 1. SIRIUS
B. AlcotH - 2. g
C. PR - 3. Tt
D. ddaelr - 4. BTG
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ABCD
a) 4321
b) 4231
) 4132
d) 3421

8. fiafcifaa A & P17-ar gt gafaid 7€1 @ ? || Which of

the following is not correctly matched?

@) (B AT
1.drer - IBELH
2.AEITED - EIGyIkil
3. Al - IEGEIE
4. qTedTSe - Geril

I 76 73 pe & Fel ST T - || Select the correct

answer from the code given below

< || Code:
a) 13R2
b) 23MR3
c 13R3
d) 23R4

9. 'BHR =Tt ft&d & - || 'Kashmir Valley is situated in

a) TSt 3R HeTeR udd STt & wem

b) YR ustrer 3R fenreh uda sifort & wea

¢) WEMRa 3R LR uda Afvray & #7ed

d) R Y3TTeT 3R HeMRa udd Afoial & 72
10. IHAT 7St B FAafciRad Ferae At R faar Hifsie
3R 3¢ Ufg & gd 6t 31k B § Faferd Hiie: ||
Consider the following tributaries of river Yamuna
and arrange them in sequence from west to east:

1. 9ddr
2,99
3. 18w
4, gl
A & 71 Ppe & Fel I AT || Select the correct
answer from the code given below
®c || Code:
a) 4,3,13R2
b) 1,2,33R4
o 3,2,13R4
d) 23,13R4

1. FgfeiRad # & BH-81 Uh Fet gAfeid Te1 27 ||
Which one of the following is not correctly
matched?
(&) (efre |1 3euress &)

a) PR - BIPIUST

b) IhT - fargm

c) At - ArRAvd

d) wig - OIS

12. fae & fAafeifaa ueen § @ faaw @g 7| & bl b

3cqTeH dgd fdafdd €2 || In which one of the

following regions of the world is the production of
citrus fruits highly developed?

a) WA waRr

b) IThCa=TT THfA TaRl

) YHLIAPRI WA

d) YHERIET waRl
13. et B g1l & gRfa Bise qer gt & 3
TR e § Hel IR AT : || Match List-I with List-II
and select the correct answer from the codes given

below the lists :

geit-1 -1l
(FwThfearita whard) (a2
A. S0 1. 3Teferar
B. R 2.t
C. e8P 3. fosfeiurs~
D. faeft-faeftst 4.3gh T
3R
PC || Code:
ABCD
a) 3412
b) 3421
Q) 2341
d) 2134

14. 3IfeT gjRae sirgfetan & fafefad adf # 4 fpa w
37dfXId € - || The Darling chain is located on which
of the following coasts of Australia?

a) IWydidc

b) cfeiuftde

) ydide
d) afejoft-ufgt ae
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15. Fufcifad & & ST FeMPRIY URT fecHs @R 4
grifeld € - || Which of the following ocean current
is related to the Indian Ocean?

a) TAIRSTERT

b) BRI URT

€) 3PIcTer URT

d) TITEA URT
16. Feit-1 BT Geit-11 & FAfeld Hifse o ikl & At
163 710 Ppe J FEt ST IME : || Match List-1 with List-Il

and select the correct answer from the codes given
below the Lists :

- (i agE) - gEt-1 @2

A. gt 1.fAg
B. 3T 2. R
C. 951 3. oftfaran
D. TR 4. SR8
ABCD
a) 1234
b) 4123
c) 4132
d) 4312

17. FufeiRaa # & BH-91 T Fel gAfeid 78 & || Which

one of the following is not correctly matched

(@) Qe
(a) ARTD S CI]
(b) &R - g
(o) raaitfB3m - 3resitad
(d) Baas - dMIR!

18. Gf&TUT 3T5hThT BT URCHIRRST 3R 3dbT THtTadT
SoTTopT fAafeiiad # @ fbg Wi BT U 3dEd & ? ||
Postmasburg in South Africa and its surrounding
area is the major producer of which of the
following minerals?

a) A

b) diadTse

c) LDiE|

d) 3w

19. A1 1 Fgt-11 & GAfera Bifzie qor et & = 6
TR e § Hel IR IMAT : || Match List-I with List-II

and select the correct answer from the codes given

below the lists

it () g @R
A.Eced 1. 9518 / |
B. BfcTHSIRY 2. SRISR
C. fareRim 3. gAIHAT
D. UTeHAls 4. AR
PC || Code:
ABCD

a) 4 321

by 4123

) 2341

d 1342

20. g # fpuer et ufde & - || 'Kinta Valley' in
Malaysia is famous for -

a) IR 3dTeA & feie

b) R 3dTEA & feie

c) féa3area & fae

d) ®Edr3cTed & fae

21. FAufciRad # & fdo q2if & grax YHed R Tl IRt
82 || Through which of the following countries the
equator does not pass?

I SiC
Il WA Rt it
. Hwrferar
V.  disT
A 16 713 e & FE IR IMAT || Select the correct

answer from the code given below

PC || Code:
a) 13R4
b) 23R4
c) 23R3
d) 33Ra

22. FAufeifdd # & BITA1 U Uil B0 A argHse A
qTe 5T dred! I eR3T A TET | - || Which is not a
natural greenhouse gas in the atmosphere?

a) ATSEISH TRITSS

b) IEA ST83TaTEs

c) HA

d) 30sH
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1. FRufcifda weAT # 9 dH-a1 9 98t 82 || Which of

the following statements is not true?

a) eET & yal 6t 3R A fafderar d gfa
gdt e |l Species diversity increases from
the equator towards the poles.

b) 3wThfced, AT &A1 B 3rder ifeid sifaar
@) 3T ¢d & || The tropics provide shelter
to more species than the temperate
regions.

) Taemeran stafdfaerar smsr! auf a=1 # urit
STTdt & || The greatest biodiversity is found in
the Amazonian rain forests.

d) srfafafaerar ftarsor &= A gai bt 3R Tedt
STTdt & || Species diversity decreases from

temperate regions towards the poles.

2. W57 TR &F | 3R J gfefor fgem &t 37k us arat
Sftell &1 Tl A © || The correct sequence of lakes
falling in the Suez Canal region from north to south

a) oo femr-fafcd iR a - e fdR o - ot

H3TeTT

b) e fdeR ot - feifdet fdex oib - Aap foraT - A
H3TedT

) ol H3TelT - U Tk b - feifce faieR oieb -
W femr

d) &P H3Tel - Ak ferl- de fdek dd A -
faféat faez A®

3. iU UoR f&®@T 7 || telegraph plateau part
a) 3R vedifed dHed Bl
b) cfeior Teaiféd ded BT
c) f&< HEIPR &k &l
d) STHABIETEl

4. it Y geft-11 A gAfea BTE gorr gfa &
6w T Ppe A Fel IR A : || Match List-I with List-Il
and select the correct answer from the codes given
below the Lists :

-1 -1l
(SSThfeaiTa Tghara & ATH) (@2n)
A. faedt - fafetst - 1. Thertdta
B.<% - 2. AR fera
C. g3t - 3. 51U
D. gk~ - 4.gUHE.
P

ABCD
a) 3412
b) 234 1
) 1324
d 2314

5. fAafeiRad # & BIET T TR ATSARATIRIY IerHP
37afEd 9el & ? || In which one of the following cities
is the Trans-Siberian Railway not located?

a) b3

b) 3B

c) 9=t

d) faar
6. fAafeiaa # @ P ¥&l grferd 7€l @ - || Which of

the following is not correctly matched -

(9ar) - @20
a) giar@r - SfawHar
b) & - A
c) gmHl - ST
d) ffga - siefaar

7. gt-1 1 Geit-1l & Afeid Hife der giaat &
fGu 7 e & Fel IR g : || Match List-I with List-Il
and select the correct answer from the codes given
below the Lists :
qdl-| (Blaen &) -1 (srafefd)
A dmefeR - 1. gMHIR °1ct
BHUIRT -  2.FAHr
Cfmet - 3.7ead et
D.fdt - 4 wWEmctE
ABCD
a) 4123
b) 3214
) 2431
d 13 24
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8. figfeilad # & PIF-Ht T Tt WRd # 37afd 71 8?
|| Which one of the following peaks is not located in
India?

a) TRl "HIFTAT

b) ATHT sRdT

c) PHC

d) Fmuda

9. HRd & 3ok ufgfwt AcH A ufgHt faey a4 5178 # 81
aTed! auf &t AT BRI BH Bldl STTdl & || Western
Disturbance in the North-Western Plains of India
gradually reduces the amount of rainfall in winter.

a) d & gAY 3R

b) ufgw @ gdf Hi 3iRk

¢) 3WIAcfeiordl iR

d) cfeford 3@ &t 3R

10. FFgfeifad # & food ¢t &b St Anf # HioT 571 @ g
et Wit ® WR 57et &1 YaTe fAeTdT 82 || Which of the
following rivers has fresh water in its upper course
but brackish water flows in its lower course?

a) &RI& ACt

b) et Act

¢) TIRASH

d) 3WBHA I BE Tt

1. ARie< scer fRafafda o § g Seer o1 ed
3UfayPT 82 || ‘Moriband Delta' is a subdivision of
which of the following delta?

a) P MeTadt 3ol

b) HeMct el

c) e et

d) @1 3eT

12. 71 &1 B2 fGE 77T € {570 Teb Bl BT (A) TUT G
@ BRUT (R) BET AT &1 || Given below are two
statements, one labeled as Assertion (A) and the
other labeled as Reason (R).
&Y (A) : SWUTBICS LT a2if # fadferal Bt
ysTfaar gaifeies dwar # urs STt &1 || Most
species of butterflies are found in tropical

countries.

PRI (R) : fadfaar & aroam § 76t & gadt
81 || Butterflies cannot live in low
temperatures.
At few el # 4 Hel ITR B IIT HIfE : || Select the
correct answer from the codes given below :
PpC || Code:
a) (A)aar (R) &Y Tet & a2 (R) B2 (A) &6
aft e g
b) (A)TT (R) Tl H&l € U (R) B (A) &bl T&t
T el 8
o) (A) TEtefdg (R)Toad?
d) (A)7ed & fiog (R) W€t 8

13. %91 - fdeR Ear & - || Black Hole is -
a) EdIssIels éf 35 &I AHekad
b) I W TH Yedl
) 3erfeemT &t Th ST
d) fawe marart

14. MRd ® Ga 31feles Stafdafderar dus & 8 ? || Which
is the most biodiversity rich area in India?

a) T &I ACH

b) ¢ fEHTeTa

c) ufgyutare

d) WO HRd

15. HRd ® fAHRdT 37UTd (Dependency Ratio) &¢ I&T 8
T - || Dependency ratio is decreasing in India
because -
a) 0-14 g9 &} SHTET & 3fHd & || The
population of 0-14 years is relatively high.
b) 60 T¥ 3R 31feid b FAAET ATAean 31feid &
|| The population of 60 years and above is
relatively high
¢) 15-59 I &t AT Ardaraa fEd 8 ||
The population of 15-59 years is relatively
high
d) 0-14 a9 3R 60 atf q 31feies Ht TAI=T
groeraar 31feie € || The population of 0-14
years and 60 years and above is relatively
high
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16. Feit-1 D1 Feit-11 A FAfeid Hifie der gt & i
6T 7 Ppe A Hel IR A - || Match List-1 with List-
11 and select the correct answer from the codes
given below the lists -

-1 -1l
(@Teafd HHR) (@)
A. ATt 1. BfcTmrtar
B. forerd 2. fareft
C. AR 3. afefoft srhtet
D. AcRel 4. HEIHPR & ddtg &
ABCD

a) 2314

b) 4321

¢ 3412

d) 4231

17. it-1p1 Geit-11 & GRferd Hifsie o it & A
fGU T P & Fel IR gAY : || Match List-1 with List-Il
and select the correct answer from the codes given

below the lists

Teft-1 @20 Telt-1l ResTe)
A. 35TelfdsEd™ 1. dRIbG
B. dTf>ifdoedT 2. QR
C. fofieam 3. faedp®
D.gdbAfAzar 4. 31T
@c || Code:

ABCD
a) 1234
b) 1243
o) 1342
d) 1423

18, Tt B eft-11 A AT Bifsre dor gt 3 A
6T T e A Fel IR gAY : || Match List-I with List-Il
and select the correct answer from the codes given
below the Lists:

-1 -
(nepfads gTedfa) (&)
A. 3ifeisitdt aeafd 1. {HEAEPRI
B.aIget 2. YA
OCEIEIC) 3. FERT
D.ddeR 4. JdTT

P

ABCD
a) 2341
b) 2314
) 2431
d) 2413
19. fAafeilad # & P et GAfeid 781 € - || Which of

the following is not correctly matched -

Gi=fa) (¥I1)
a) fomt - GAHIRSITE]
b) 3PTTHT - EIHIGE
Q) Tg - ST
d) f&das - s

20. 1J g1 B2 ST Ui & {5177 T bl BT (A) daT
GE DI BRUT (R) el AT 21 || Given below are two
statements, one labeled as Assertion (A) and the
other labeled as Reason (R).
B (A) : B HEATR &8 g3t 2Aftdl 1 4=
38T &9 TAT 81 || The Indian Ocean has
become the military base of many big
powers.
BRYT (R) : &< 7R & Adscad! ¢ &1
Fgd HIMIfdid - I5THIfdd @M 1 || The
countries adjacent to the Indian Ocean have
many geo-political benefits.

A few el # 4 Hel ITR BT TG BIIE: || Select the

correct answer from the codes given below :
Pc || Code:
a) B[ (A) 9T BRYT (R) ) Hel & dIT BRUT
(R) F2M (A) Ft T&t uTaT Har 8
b) BUT (A) TUT BRUT (R) GHI Hel & U BRUT
(R) B2 (A) 6t Tet AT Te ! Bl
<) P (A) TE &, fbg BRUT (R) TTeTd 8
d) @A (A) TeTd 8, fhg BRUT (R) TET 8
21. 928 R | feeia ueifsal o ufgw 4 gd fRafeifad &
Y BI7-IT b el oA &7 || Which one of the
following is the correct sequence of hills located in
central India from west to east?
a) WPlel, TdYgT, Helad 3R BICHPTYR
b) HAYST, WeTed, ATt 3R BITAPIR
¢) HPIdl, HETGd, HAYST 3R BICHPTYR
d) HAYST, AETqd, BITHPTR 3R AdTd
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22. 710 &1 P2 ST T € f5H T &l BT (A) daT gaEe
@ BRUT (R) BET AT &1 || Given below are two
statements, one labeled as Assertion (A) and the
other labeled as Reason (R).
YA (A) : HRd H Hdifeid FedT dTell HBHIT
&7 fenTerg &= # fd 21 || The seismic zone
with the highest concentration in India is
located in the Himalayan region.
PRI (R) : fEATETT A &8 37 e 3chH &
37dfTd 81 || Several longitudinal thrust
zones are located in the Himalayas.
Pc || Code:
a) P (A) dAT BRYT (R) <HF] T&l & qAT ROT
(R) B[ (A) & T&t e &
b) BT (A) TUTBRUT (R) GHI Hel 8 T BRUT
(R) B (A) Bt Tet AT A&l &
¢) P (A) TE B, fhg BRT (R) TeTd &
d) @A (A) 7TTd 8, fbg BRUT (R) TET 8

23. HIUTqR UeTfSat & feRT SthIeT i Ueb He 3eTeRvT &
- || Imphal basin surrounded by Manipur hills is a
beautiful example of -

a) AT ASH BT (Lacustrine plains)

b) oI ASH &I (Loas Plain)

c) féuctaficH &7 (Glacial plain)

d) 3Tcie AGH &I (Alluvial)

24. frafaRad Afcal & & BH-a1 3197 vl aret yate &
foie ufdg 82 || Which one of the following rivers is
famous for its rift valley flow?

a) ddd

b) amleR

c) Tsh

d) W

25. fAafelRdad urpfdd geer # & fd a3 RieRI Bt YA
& ATH F 51T 3771dT 872 || Which of the following

natural regions is known as the 'land' of large

predators?

a) ftdIsoT & &1 AGH || Temperate grassland
b) 3SUIBICI=TI HIGT U2 || Tropical monsoon

region
¢) 3WTMTEAH US2o || Hot desert region
d) 3WTHfeaEla GamT ue2r || Tropical

Savanna region

26. f@Tera uda goft & defer # fAafefad # @ sH-ar
YT TEl 8 / € || Which of the following statements
is/are correct regarding the Himalayan Mountain
range?

. &Y EHTCTI 6l RAGR IgH SdRAEM € ||
The sedimentary rocks of the Main Himalaya
are fossil free.

Il o7g fEATeTa &t SR IgMl # FHg Sita-5igsi
& flaTeA fAeTd € || Fossils of marine animals
are found in the layered rocks of the Lesser
Himalayas.

. STer fEnTera an fRianfeid fentera # Are awrdt
& 37 fAd € || Remains of human
civilization have been found in the outer
Himalayas or Shivalik Himalayas.

A few gu P # A Tt SR AT : || Select the correct

answer from the codes given below :

PC || Code:
a) Pae13fR2

b) dbaer 23R 3
¢) Haa13R3
d) 1,23R3Td2

27. ATE¢1s1A feefiavor sftan] fd dre) 6t 515 & are
TI15 Bd € || Nitrogen fixing bacteria associate
with the root of which plant?

a) gt

b) TEA

o) ig

d) AT
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1. fFafafad & B HRd &1 9ed a1 et JuTd 22 ||
Which of the following is the highest water fall in
India?

a) ST STeTguTd

b) Pdldbd sTayard

) XfdH PUS STAyUTd

d) Pafd stervard

2. ITId STeTdTg b1 Fet o &' Ig BT defed 2l ||
‘Vegetation is a true indicator of climate.' This
statement is related.

a) YHde

b) ®NAq

o) dlarf

d) &y

3. Fufcfda g & § fad gruma a1y &1 AcH fRid 82
[| In which of the following countries is the Pampas
grassland located?

a) 3ffer

b) wTsfter

c) dieft

d) SRR

4. frafeifda gl # o1 Tt gafaia 98t 22 || Which of

the following pairs is not correctly matched?

) HETAA
a) I3 3R®T (a) FHRA
b) (b) dABATHTDT
) gHAfiEH () FIPH
d) dnia (d) fiie

5. 5T TEX P & 5T &b UYTd HRd 3R Y & Hed bt
amfed gt # fdaHt Bt 3mft 82 || How much has the
sea distance between India and Europe decreased
after the construction of the Suez Canal?

a) 5,000 faHt

b) 7,000 f&s. ¥t

) 8,000 faHt

d) 10.000 faHt

6. Fafeifad weAT & &I Tet 98t 82 || Which of the
following statements is not correct?

a) Pl THET BT TG HTST H R BT ST # ||
Black soil is called 'Regur' in the local
language.

b) thed &b HTAR IR fagT 31fHard $u & v
gfua fAgt gldt 8 || According to Krebs,
regur soil is essentially a mature soil.

c) roit AT A 37T (A1) ©RUT 637 6t 3=
&dr eldt & || Black soil has high capacity to
hold moisture.

d) wrelt fagh fenrera &= & urdt strdt & || Black

soil is found in the Himalayan region.

7. ApATE AT T AT 41T 8 || McMahon Line

forms the boundary line

a) YRavddH & dla

b) HWRd Td UTfdsea & st
¢) YRdTd ”HR & &
d) WRd TdAure & &l

8. fAgfeiRaa Al # fbads He™ R Teft & Ut &bt
3TepTd TeTT ST §dT 2 || At the mouth of which of
the following rivers a 'bird's paw' shaped delta is
formed?

a) EITE

b) et

o 3gd

d) fawifadt

9. STHEAT 6 Mipfde gfg 78 7 @ fddept uRomm 22 ||
Natural increase of population is a result of which
of the following?

a) 3RNfed 57 &3 || crude birth rate

b) 3RNfeid g &3 || crude death rate

€) WdsI || migration

d) fdarg || marriage
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10. Fufcifad It # P 31fies 2fE & Hed HW dAfd
fEITIUTd & 3R W a8 A1 & || Which of the
following states is at the top economically but at
the bottom on the basis of sex ratio?

a) HeggeRl

b) HWERIY

c) ufgm e

d) sfamn

1. FgfeiRad # &1 Ja1 & Heiftid € ? || Which of the
following is related to soil?

a) sftd

b) deITSRicH

c) dfes

d) <t

12.F79 & & fosa® 307 6t gaffes Tigar fRedt 22 ||
Which of the following has the highest
concentration of ozone?

a) QOEhRR A

b) AHRBRR A

) HWATHRRHA

d) SHRIRAIRR |

13. HRd & FafciRad 50t # @ fhgd! dear aed e
82 || Which of the following states of India has the
longest coastline?

a) HeRY

b) 31Ter TRl

c) B

d) TRId

14. 3R 9ol &t FAafdfda Af¢al # e-dt gafaror
UGHUT & PBRUT Sifdids Tuer aifsd & 7t & ? || Which
of the following rivers of Uttar Pradesh has been
declared a 'biological disaster' due to
environmental pollution?

a) I

b) A

o W

d) dHdr

15. AT HHEAT 3fdT IR HSEe FAafciad o
fdsaepT faTaR 87 || The Rajasthan Desert or the Thar
Desert is an extension of which of the following?

a) T

b) Ufeard

) A wd fvaa s

d) sffemedta

16. WRd &1 FHgfeiRad Afcal # o ufgH! ore 3 78t
fAdardt €2 || Which of the following rivers of India
does not originate from the Western Ghats?

a) TereRt

b) R

c) ardt/ardt

d) oI

17. fafciRad It # & sardeil vd sreit A< & Jed
3T 316 &2 || Which of the following states is the
largest producer of cardamom and black pepper?

a) dfferTg

b) Tar

c) &

d) HERY
18. Fit-1 3R Fit-11 &7 fAeT Bifsie 3R =it & i fde
TTC Pl F Fel 3TR BT I HIfTI || Match List-l and

List-1l and select the correct answer from the codes
given below the lists.

geit-1 -1

ey TR et At
A. el 1.qrgraer
B. AMTeIUS 2.7 edt
C. 3WRATS 3. 3(1S Hfe
D. affierrg 4. grR™fd

ABCD

a) 1342

b) 2341

c) 3421

d) 1234
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19. FAufeifRdd it & w-ar fa A sraiEh &7 sproft
3aTcd 87 || Which of the following countries is the
leading producer of lodine in the world?

a) 3SUH

b) .15 3ARBT

c) feeft

d) o

20. 2011 &t SIITUMT & 3ER FafeiRad w4t # fead
TTHIOT B et ST AT A IR T 3uTa gAan & ? ||
According to the 2011 census, which of the
following states has the lowest child sex ratio in
both rural and urban areas?

a) IR US>

b) &Il

c) eRamm

d) 5P Td BRHR

21. 201 &t ST & AR FafeiRaa Isai # 4
fasadbt TITtoT ST affeld 87 || Which of the
following states has the highest rural population as
per 2011 census?

a) W YA

b) HERIY

¢) Y

d) 3TRUC

22. 779 gl R fgaR BIfFT: || Consider the
following events:
. UEATTIgY || first reptile
Il. Y& TTuRt || first mammal
Ill.  &dd a1l 5 || Armored Creatures
IV. UgdT I | first insect

3G Th T3 Bl geeft R 3P 3T B & BIeIshHITER
AR Pif>iC derm i feT el # 4 Hel 3T BT IaT

BIfSTEI || Arrange the above events in chronological

order of their occurrence on the earth and select
the correct answer from the codes given below.
ABCD

a) 2134

b) 2314

¢ 3214

d 2413
23. fgfeiRad 74T # & BT TP] ol oTraITs H YA
URIGH W & || Which of the following states ranks
first in the length of roads?

a) HERTY

b) 3TRUGA

c) HeAUSR(

d) IR
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1. FafdRda # @ &8 argrsa & Uipfde dqad & fae

bTel STE3TTSS bl 3uch Figdl HIHT STTdl 82 || 1.

Which of the following is considered to be the
appropriate concentration of carbon dioxide for the
natural balance of the atmosphere?

a) 0.02%

b) 0.03%

c) 0.04%

d) 0.05%

2. 9t &t AT3T AR Bt 8- || The amount of rainfall

depends on-
a) BATd g R
b) drgHSH H THI R
C) ST dh W
d) a9 & w®

3, Get1 B et - 2 AR FfFTE qerm et 3R gfa
& At fGT 71T P A gAT- || Match List-1 with List-2
and select the correct answer from the codes given
below the lists-

eit-1 qeit-2
(a) 3WThicEEfT g 1. geRad
(b) Apgerad 2. Fénmae ueer
(c) P8 aTmfa 3. IR
(d) Udsts a7 4. grsaic - deft
Pc:

ABCD

a) 1234

b) 2143

) 1423

d) 4213

4. HRd T Haffelds TTERME dTell §cITE 8- || The
deepest port of India is-

a) Biscl

b) @it

¢) YR

d) HMFar

5. 799 # @ &1 11 fdrmeTan férde €7 || Which of the

following is the largest glacier?

a) JrRTEAt
b) TP

0 I
d) faaifaq

6. STTUMT & AR, Fafcaa 154t # féa A srgfaa
SHSTIIGAT Bt AT BT UfdRrd 3P Pl STHHDAT b
gfderd & fedTd d =JAdd 87 || According to the

census, which of the following states has the

lowest percentage of Scheduled Tribes as a
percentage of its total population?

a) 3WUSA

b) faER

¢) dffierg

d) &l

7. 3ENfeiRdd 7 4 A ftd HEPR URT T 82 || Which
of the following is not a cold ocean current?

a) ®ART

b) Edlec

o) 3mmRit

d) 3¥[cied

8. fAgfeiRaa o # B Fet gAfeid 7€t 82 || Which of

the following era is not correctly matched?

gdq = e |
a) Rubtenr - Eamaucer
b) EHSIET - 3IBUTEA Uel
c) A - Warer™
d) Sfsen - 5TA{ T4 BRHR

9. fafeilad # & 68 JRIY Pt det AT Pel STrar &2
|| Which of the following is called the 'Oil Capital of
Europe'?

a) JABRT

b) TEREH

c) oiisH

d) fefeRyer
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10. fafeifad # & fobd 21 Gg & i1 S5R18e J ot
g8 €7 || Which of the following group of countries

shares border with Israel?
a) deH, iRk, 5AEA, 54,
b) A&, Tbl, 51184, ATEUH
€) oIgAH, HiRA, T, SigT
d) <, HRaT, &b, I

1. 779 & & B 41 998 ISTUSR & ? || Which of the
following is the largest plateau?

a) BIbIHHE

b) THRIRTT

c) PERE

d) dlafaarn

12. FeAt-1 3R get-2 1 gAfeid Hifse der i fee e
Pc § FET IR gHT- || Match List-l and List-1l and

select the correct answer from the codes given

below-

-1 -2
(GTeTsIYTa) (<
(a) GERPR 1. ETCYHT
(b) ggAT 2. HaPS
(c) MbTd 3. RRTAt
(d) 5T 4. gisdt
PC:

ABCD
a) 4213
b) 4231
¢ 2413
d) 2341

13. FRafcdRad AcidH! # § B WRd BT 90% 1 3iftid
PRI UG BdT 8?2 || Which of the following shale
works provides more than 90% of India's coal?

a) faeaen

b) ¥URdIS hH

o) et ma

d) TS BH

14, fAafciad oiieT Td SUTd PRAM! B d B B JIeT
& & THIT 781 82 || Which one of the following iron

and steel factories is not near the raw material
sector?

a) STHRICYR

b) IRPBeT

o FiR
d) JoH

15. TTeT PR T 3STE0T &: || The Red Sea is an
example:

a) STt Tt &7 || Volcanic Valley
b) 3TRfEd et &7 || Eroded valley

c) efta gt || Axial Trough
d) 'USIBR °1et & || 'U' shaped valley
6. b T Frafaad & & T Tt & B et 27
At few 71e e § F&t 3TR IHe- || Tropic of Cancer
passes through which of the following states?
Select the correct answer from the code given
below-
. TR
. BdarTe
. 3TRTERA
V. SRS
a) 1,234
b) 1233R4
o) 1,33R4
d) 233R4

17. fufafaa verst snfaat &1 ufgn & gd a8t oH
UgdTHE- || Correct order of the following hill castes
from west to east Identify the sequence-

a) Wt- TRY - APT- SrAfaar

b) APT- SfdaT- @iwt- TR

) TR - WRit- sEifaar - aPm

d) STt - AT- TRY- At

18. FafciRRad # & B &t 7e3 cfeivft sTH A 31TdRe
STeTAPT &5 U H U171 3T1ct 82 || Which of the
following canals is used as an internal waterway in
southern Germany?

a) TEMEH &

b) dTeT T ARY A&

) gsfaraam

d) ¥%c APR T&
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19. SIT5TTeT ® fdRITeT &aT IPTHI & BT STar & - || The
huge wind farms in Brazil are called -

a) BT

b) s&fEaT

¢) Pa@nEg

d) wisT

20. FafeRada gt # o get gafeid 72t 22 || Which
of the following pairs is not correctly matched?
a) it foams fears
b) aTsdM - ATy
) BRIPBHHAT3M
d) HIerEld - Arerat

21. -1 B Feit-2 AFAfeid Hifie gar A fGu 11e e
&l IR YHE- || Match List-1 with List-2 and select
the correct answer from the codes given below-

i1 qeit-2

(&) (Frmiafia wdh)
(a) afgiet T 1. 31f8an
(b) afeivft- gdf e 2. dowa’
(c) 3T - gdif HRd 3.3
(d) HET U2 AT BTG 4. HHRY
Pc:

ABCD

a) 4231

b) 4321

¢ 3412

d) 3214

22. Feit-1 dem gt-2 Bl gAfeid Hifse ve i fee me
PC BT 3UGNT B Fel 3R gfAT- || Match List-l and

List-1l and select the correct answer using the code

given below-

et -2
(et b ()
(a) STeDT 1. €R1pS
(b) fEsTET®! 2. BRET
(c) ST eeffAfAam Ut 3. BRIYe
(d) ATepT 4.37Ppe
Pc:

ABCD
a) 3142
b) 2413
) 3412
d) 2143

23. Fit-1 e geit-2 oY gAfeld Hifsie ud At feu e

d) 3421

24, 201 & SHITOET & AR, Fg A A foa g &
STAE®AT H BHT 3T 8 || According to the 2011
census, in which of the following states there has
been a decrease in population?

a) Armels

b) AR

o fga
d) fafFa

25. geit-1 P! At -28 GAferd Bifzie 3R giaat & A
feu 11E Pe @ et 3R Ffe-
eit-1 -2
(SRAT) (RreR)
(a) T HE T 1. 5TEqR
(b) HRATT TRITE doT IRT 3HEM M 2. 78 feeeit
(c) et Yeab &Y 3HUT FHeAH 3. SEIed
(d) WRTT PiY ITHUH FEA 4, gt
ABCD
a) 2413
b) 3412
o 1324
d) 4231
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1. 81 &t § 5TRT 201 &t STTUAT & Freiferd AfdR
37Th3! &b 3TER, 79 # 4 fdd THer™ # Jed BH
ﬁ“’l‘l’g@lﬁ% || Which of the following communities
has the lowest sex ratio, according to additional
data from the recently released 2011 census?

a) dig

b) f&@

o

d) Hi&TH

2. 96101 T1ct fdoa I5a A f&d & - || Nelong Valley is
situated in which state?

a) fEHTareT ueer

b) fafamn

) STH{HMHR

d) 3WREs

3. 912 fae 1e e # & FRufaifEd sfita & eypa ot e
3 &l 31eRIET A H Adfdd BIfid - || Arrange the
following lakes in the correct descending order
from the point of view of area from the codes
given below:

1.9 foR

2. dPBTA

3. faaRan

4. guiizr

a) 4321
b) 3214
¢ 4213
d) 3142
4. fgfafdd & & ® gAfdd 781 8 - || Which of the

following is not correctly matched -

dqomE - oA
a) IMeEH - fezdls
b) $MHf - 91
o) wicfafsan - 3599
d) STraf - St

5. it 1 1 it 2 8 FEl gAferd Hifsa den i few e
Pc J Fel IR BT I HIf - || Match List 1 with List

2 correctly and select the correct answer from the
codes given below -

gt (rffah g2 @
HHAT - afabn
AT - STH] BRAR
Siifster - fEame e
fRrafdser - ITRRAZ
Pc || Code:

ABCD

a) 2314

b) 4321

c) 4123

d) 4132

6. fAgfeiRaa # @ P It T YoTet, HRd A Tdladad 82
[| Which of the following rock system is the latest in
India?

a) faema

b) $swr

C) URdIS

d) TsamHr

7. Frufafad # & B a1 g et qafca T 22 |
Which of the following pair is not correctly
matched?

a) hIed - 31Teud udda

b) &RT - Melfs

o) fAwd - TETard

d) @HfEq- ffa

8. fFAafaifad = o A fFad Sk dig ST BIIRAT§ ||
Through which of the following pass is the way to
Leh

a) sfsienr

b) frudst &

c) derEret

d) wfFeret

GEOGRAPHY BY SHUBHAM GUPTA



“UPPSC BY KHAN GLOBAL STUDIES”

9. Feit-1 3R At - 2 B GAferd Hifsie dern i fee e
@c d Fel IR AT || Match List-1and List-2 and

select the correct answer from the codes given

below
Tt @ S Her) -2 (i)
(a) @IS 3TRI 3MRBT
(b) Tt 37TBIPT
(c) Rt R
(d) des cfefoft 3mRaeT
ABCD

a) 4312

b) 2341

) 4321

d) 4132

10. fAufeifaa & & o1a1 v c2f fay &1 gad 931
fFafad 21 & || Which one of the following countries
is the largest exporting country in the world?

a) HRd

b) =

c) &

d) siteisr

1. Feit-1 a1 Geit-2 B GRferd HifEe dem gfaat & i
QU 1T P A Tt 3TR BT I HIT || Match List-|
and List-1l and select the correct answer from the
codes given below the Lists

a1 sefa gEt-2 89
(a) RRfAAsT 1. 59
(b) gorAF 2.3R9
(©©g 3. e Tferm
(d) 9g 4. BIATERT
Pc:
ABCD

a) 3142

b) 2341

c) 3412

d 1234

12. Feit-1 qT Git - 2 B GAfeid Hife derm it &
At few 7Te Ppe § Fet 3TR &7 =7 HIfFT || Match List-
1and List-2 and select the correct answer from the
codes given below the lists

Teit-1 (GirEnfiies &) Teft-2 (@20
(a) fosaht 1.9
(b) dbed 2. 519
(c) @A 3. STt
(d) dAER T 4. %1
PpC || Code:
ABCD

a) 2143

b) 2134

) 3214

d) 4321

13. -1 3R F=it-2 DY Afeid Hife der i fee e
P¢ d et 3R AT || Match List-I and List-1l and

select the correct answer from the codes given

below
eft-1 () eft-2 (@fi)
(a) ApH GIEE RS
(b) SeTiRIsTeT 2. BIICAT
(c) BRIYE 3. AAftsT
(d) fa=gsf 4. g
ABCD

a) 3214

b) 2143

o 4321

d) 1234

14. TE YIIGIY ot JaA 351 =it € || It is the highest
peak of the peninsula

a) 3¢PHS

b) 3rATSYSt

c) e
d) WETEeIR

15. HRA A FAafcidd ¥ @ B AT T SA BT 70% A
37fElds BTt 3TdsalT UeT dBRdl &2 || Which of the
following states alone produces more than 70% of
the country's coffee in India?

a) dfWeraTg

b) &

C) HeRTy

d) Ffed
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16. WRA T udcd & Fauf BT # Afffeid et 8- ||
'Golden Triangle' of Indian tourism is-

a) 3PR, faoedt qar AR

b) H2RT, 3PRT d2iT TdTfeiaR

€) 3IPRI, PHEYR dUT ¢RdI%H

d) 3RIHH I B Tl

17. HRd & UfgH acia AeH & 3ot HITT &Y 1519 31 11
3 STHT 571dT €, I8 &- || other name by which northern
part of the West Coastal Plain of India is known is-

a) PAfed de

b) HIATER

c) BlipoT

d) PR

18. dTdUTdT det MEFRITEAT 31af2id & || Tatipaka oil
refinery is located

a) AT H

b) SWUCRITH

C) PACH I H

d) 3T WCAIT A

19. gfeior ufgA AFYH BIet A FafaRad el # 3 Jad
H auf Bel &ldl &2 || Which place receives the least
rainfall during the Southwest Monsoon season?

a) BIABIdl

b) HITER

c) A8

d) feeett

20. Fufeifdaa # & &H-a1 oA et GAfad 981 87 ||
Which pair is not correctly matched?

a) WCR TR &iE - THeT At

b) faaan gy - HAR At

o) el IR gy e et

d) AP PR €7E - 80T At

21. 2011 &l ST & HTAR, HRd | FHafelad a4
Y 3feids STAUSIT T cd dTell 59 B I78? || 201
census, which states has the highest density?

a) OfgH &Ime

b) e

c) WU

d) fasr

22. FgfeilRad # & PIar A Fel gAfad T8l & - ||
Which pair is not correctly matched -

qAF - SAHE b gig o (vfderd #)

a) 1971-81 - 24.66
b) 1981-91 - 2387
C) 1991-2001 - 2154
d) 2001-201 -19.05

23. STITUHT 31Tbetd RUTe veferd aidt & fds WRd fas
BT HIH AT &I 81 g9 2020 W R b 374d 39
gPft- || Average age of Indians in year 2020 will be-

a) 27d9

b) 28 Y

¢ 29ad

d) 30dY

24. 5T & FAufcdfaa 7 & f6a 3r1 3t gwmaf
faera & wrieH 7 affmfeia 78t fsar sirar 82 || Which
of the following segment of the population is not
included in the program of inclusive development?

a) dHid $u® || Marginal farmer

b) YfHel Bf¥ 8ifidb || Landless agri laborers

¢) 3rIgfad sfd / aggfEd ssMid || SC/ST

d) 3rEf 2rEdt &) & 3@ a1 s || People

living in semi urban areas

25. far &1 ffigid Fafcfdd & 3ga Sl AT BIaT 2 ||
The Big Bang theory explains the origin of

a) IaTert sfta
b) a3

c) SIS

d) WEMPR

26. gt bt uRepAYT Yyt (g et AeT bl Edt e - ||
Rotation axis of Earth (polar axis) is always inclined
a) < gota gy @ 23.0 St || at 23.0° from
the ecliptic axis
b) dTd gaitar e & 23.1 377t R || at 23.1 degrees
from the ecliptic axis
c) <rd gota Yyt @245 3 W || at 24.5 degrees
from the ecliptic axis

d) <t gqefta i@ @ 23.5 fSft w2 || at 23.5° from

the ecliptic axis
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1. Biger fAufaiRaa # & fead fae ufdg & ? || Kandla

is famous for which of the following?

a) STeTaid - H31 38T & T || For ship breaking
industry

b) ERT®bTeA 3R Uifeiel & & feit || for cutting
and polishing a diamond

c) fiafa wiTpor &= & fae || For Export
Processing Zone

d) WWRPTd &l Td Ricy &g & fae || For
Traditional Arts and Crafts Centre

2. TRIB0T & BRUT & defel # 77 Bl R faar
HIfTE 3R 1o 6T 78 P F Fel IR AT : || Consider
the following statements regarding the causes of
urbanization and select the correct answer from
the codes given below:

1. ITHIOT & 7R &1 A Jerd bt Freit R

2. &R H Aeifuics TN B Fad! Td=ar

3. 3N TiehIBIuT B Freit &R

4. JTHTOT &A1 # 35a1T St TR
Pc:
a) 1,2dAT3 A2
b) 2,3dT4 T8
c) 1,2dAT4TEE
d) 1,37T4TEE

3. 79 A & fooa 50 # 17 3703 BT YRa HeR B ? ||
Which of the following state has major reserves of
tin ore?

a) 39"

b) STH] BIHR

¢) SR

d) ufgH &me

4. 2011 & STITUMAT & TR, WRA A famgura ame ? ||
What is the sex ratio in India as per 2011 census?
a) Wfd v &5TR You! W &1 Bt 6T 940 || 940
females per 1000 males
b) Wfd T E5IR JouI W &1 bt §@AT 950 || 950

females per 1000 males

c) Wfd TP E5IR YBul W &l &bt H&a1 960
|| 960 females per 1000 males
d) 393 & @ BIE 781 || none of the above

5. 2011 &t STHITUMAT & 31HR , ITRYGRI Bl SAHAT HRd
1 STAEEAT & fdbdq Ufderd @ ? || According to the
2011 census, the population of Uttar Pradesh is

what percent of the population of India?
a) 14.2
b) 15.5
c) 16.16
d) 18.2

6. BHIR 3UTE H Hg 5Tc1 &bl Adifelds ATAT & ? || Our
satellite has the largest amount of fresh water.

a) Aflcard

b) sarasRAlA

o) WETgia v uddta fEmAtea &

d) HfAITd 5T
7. UTREfTAHIR BT YT g 7 F 68 7101 & feie
fdsar 5T1aT 8 ? || Pyrhiliometer is used to measure
which of the following?

a) I WMic dl

b) HieR YL B

¢) Uri® ™ d

d) 3% # A BIE A8l || none of the above

8. 779 # & B T AaUTdT YavTaT &I eIfar e ? ||
Which of the following represents the water
salinity gradient?

a) YHfdbars

b) Bl T

C) UTShaldersd

d) bHY FATS

9. {79 BIell # & 68 U “o7¢] fEHbTeT AHT AT 22 ||
Which of the following periods is often referred to
as the "Little Ice Age"?

a) 750 g&it & 850 g&it

b) 950 $&it § 1250 St

) 1650 Swit & 1870 Swit

d) 375 & 8000 & 10000 4T Yk
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10. 779 # & Tt 318d Y T IcTedhdr e
&H 872 || Which of the following has the lowest
average net primary productivity?

a) <ftdrsoT Bfceel o || Temperate Forest
b) 3WThICEEld o || tropical forest
c) 2ftatsor Bfeaia o/ we2r || Temperate

grassland region

d) 3WIHBICEETT TaMT || tropical savanna

1. FgfeiRad # & B 91 ga1 d Fraifeid € - || Which of
the following is related to soil?

a) ssfi®

b) deTsAfcd

¢ srfcd

d) craTht

12. FTRITST 313%b &- || Bauxite ore is-
a) g dl
b) eqfifiaw Bt
¢) did®r
d) I ®T

13. i1 fRfFT eU1g 2 ? || brass is an alloy
a) didrud fé1 & (copper and tin)
b) dfeT Td Tict & (copper and silver)
¢) didT Td 57T &I (copper and zinc)
d) didred M BT (copper and glass)

14. g sftar & @ ®1F fay & ureiiqan qr gad medt
3fte1 82 || Which of the following lake is the oldest
and the deepest lake in the world?

a) debret et

b) g siteT

o) fadaRarshtar

d) faffom sfter

15. 179 ® & B Fet GAfeid 78t 82 || Which of the
following is not correctly matched?
a) fasy <1 @A 3= sTeTyaTd - et yurd
b) fasy Pt TeH ISt dIi 5TeT ht sitet - FUIRI
c) fay &t ged 35t sftet - fefdamra rarm=r
d) fasy &t gEst qed 71ed sited - e st

16. frafcRad 7 & P1H-a1 Ao cferoft Med & f&ra
8 ? || Which of the following desert is in the
Southern Hemisphere?

a) BIEER

b) et

o) fagsmgsm

d) HeERT

17. 199 70 # 4 BH-41 FEt GAferd T8t 82 || Which of

the following pair is not correctly matched?

32T A
a) @O - MierRar
b) gdla& - 3eae
¢) WG - e
d) HIRBR - qPTRT

18. A9 # A fdod 321 # 30 BT AP BT 30% A
31feid &Y AET Ut & 37a7fd 31T € ? || In which of
the following country more than 30% of its total
area comes under National Park?

a) S5RIsel

b) e

OBEIEGE

d) A

19. ITGASA & NeNfERdd Heell Bl 37db ezt &b eRTdet
A ged! git & 31pH | Faid Bbifse 3R At fe e
Pc § FET 3R gAT- || Arrange the following layers
of the atmosphere in the order of their increasing
distance from the surface of the earth and select
the correct answer from the codes given below:
. ardRa HSe || Thermosphere
Il.  &fHYSe || Troposphere
lll.  THAMY HSH || Stratosphere
IV. HEg HZd || Mesosphere
P
a) 1,3,4,2
b) 2,314
o 3,421
d) 2 3,4,1
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20. F=it-13T it - 2 Y GAfeld b ao i feu e
@c J Fel I gAT- || Match List-1and List-2 and
select the correct answer from the codes given

below-
i1 gdit-2
. wafo fFaor 1. RIAHR
B. &RWsT fAdioT 2. gferoft gdf
T BT 31 3dTedh &

C. G Yd &1 a1ae BT ey 3.7
D. &dfFT 4. 30} s1edifed

ABCD
a) 3241
b) 2413
c) 4321
d) 1432
21. 779 & & o1 affeia 78t € ? || Which of the

following is not included?

i : afeai
a) YT Pl - Plafer
b) ER - oAt
Q) TH - g&q

d) BIERT (BIERT) I - STidsi
22. Fgfeifad S2if & ATAT # & fdsdds ATH BT AdaTd
PTHIT E1AT & "40 Pelal &l ol "? || Which of the
country names roughly means "Land of 40 tribes"?

a) BIARIEH

b) fahieam

¢) darfsifewan

d) 3afdem

23. fAgfeifda # @ 1 a1 40 avf 2013 # did &1 Faffers
316 &1 872 || Which country has been the largest
producer of copper in the year 2013?

a) faeft

b) =

) Us

d) g Ta.t

24. VR 1 78 Sfteil § & e STHY HHR # 37arfeeid 8?

[| Which lakes of India is in Jammu and Kashmir?

a) PolsR Siia

b) Pt siteT
c) 3ER e
d) R &

25. fAufeifaa T & Ao 3cd1eH &1 Tt 3TaRiIe! hH
§[dTsC- || Give the correct descending order of fish

production of the following states-
a) TRIE, AR, 3T TR, AT AT
b) e, ISR, 3HTE e, dffet 713
c) 3T W2l IFRId, e, afiet A1
d) affiet T3, 3Ter UeRl, BRI, dBie

26. Feit-131R it 2 &1 A Hifsie dern i fiée e pe
&l IR YFT- || Match List-1 and List-1l and select
the correct answer from the code given below-

gdt-1 FFG) gdt-2 (159)
A. AT 1. fafaba
B. wua 2. /e
C feRER 3. dfAeTg
D. TRI 4, SRES
P
ABCD
a) 3214
b) 3142
c) 2341
d) 4213

27. MRd 1 STITOMAT 2011 & 3AR, 2001-11 &Y 37afe A
S2I | STH@AT fg BT fderd aT- || According to the
Census of India 201, the percentage of population
growth in the country during the period 2001-11

a) 3134

b) 17.70

c) 1331

d) 2385

28. 799 # & P19-a1 §&t gAfeid Tet 82 || Which of the
following is not correctly matched?

1 S Sld afeerfa

a) WAl - fearaer ucar
b) STl - 5T Td BRHR
c) 3HEH - HEI TRl

d) aduqurt R
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29. ‘g TP et 49 H & fpa 37afeid 82 || In which of the
following is the river 'Dudh Ganga' located?

a) W Td AR

b) fEATEeT ucar

€) 3WRdS

d) ufgH&ma

30. fFAufafda # @ ®F-A7 ta¥d TR (8Re ¢39) T8 87 ||
Which of the following is not a ghost town?

a) PIURT

b) ESpIST

C) odud

d) AR

31. f79 Te30 ° § fHBa grieR A6t & e T 82 || Which of
the following canals has been taken out from Damodar
river?

a) Wfge TR

b) TSTA=R

) foeenpmagaR

d) SEATTR

32. geft-1 vd geAt-2 Y gAferd Hifse ger At fee e ge d
&l 3R gfAe- || Match List-1 and List-1l and select the

correct answer from the codes given below-

T Eid) -2 (cafEf)
A. 37EEl 1. 8Ramom
B. Ycfiebe 2. A
C. Jups 3. affierTg
D. &IPS 4. 3TRES
Ppc:
ABCD
a) 3214
b) 2341
o 4231
d 1423

33. ¥R & fm fAfgal # & 1 SuTee @Tan & 399d & BRUT
ﬁﬁﬁg‘s‘% || Which one of the following soils of India is
formed due to metabolization of basalt lava?

a) SToite fAfEaT (Alluvial)

b) wcrse fAfear (Laterite)

¢) et fAfgaT (Red)

d) i’ﬂ?ﬁ'@iﬁ(Regur)

34, SFITUET 201 & AR ITRYCR( hl HTERAT R B .. ||
Census 2011, the literacy rate of Uttar Pradesh is ...
a) 74.01%
b) 72.60%
¢ 69.72%
d) 70.60%

Wit (e a’ten) : fasa 9 auf & wsit &1 faguor (2015-2023)

a¥f (Year) U9l (Questions) fasy Tﬂ?f YR lfﬂ?l
(World Geography) (Indian Geography)
2015 34 19 15
2016 26 09 17
2017 26 12 14
2018 23 10 13
2019 27 16 "
2020 22 13 09
2021 26 15 "
2022 25 15 10
2023 20 13 07
Pd (Total) 228 122 106
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